Math 295: Exam 1 Name:

Fall - 2018
09/18/2018
80 Minutes

Write your name on the appropriate line on the exam cover sheet. This exam
contains 10 pages (including this cover page) and 9 questions. Check that you
have every page of the exam. Answer the questions in the spaces provided on the
question sheets. Be sure to answer every part of each question and show all your
work. If you run out of room for an answer, continue on the back of the page —
being sure to indicate the problem number.

Question | Points | Score
1 10
2 10
3 10
4 10
5 15
6 10
7 10
8 10
9 15
Total: 100
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1. (10 points) Mark the following statements True or False:

True False
(@ If lim f(z)=3and lim f(z)=3, then lim f(r)=3. L] [
(b) All continuous functions are differentiable. D D
(¢) The function i J_r f is continuous on [0, 1]. D D
(d) If lim g(z) exists, then lim g(z) and lim g(x) exist. L] [
(e) Ifh(~1) =5, then lim h(z) =5. L] [

(f) The function p(x) = "% has a removable discontinuity at x = 0. L] ]
T

(g) All differentiable functions are continuous. D D

(h) The graphs of f(x) = (@ +xl)_£x1+ 2 and g(z) =  + 2 are identical. [ | | |
) ) x?cost+3 . )
(i) The function ¥ (x) = ol is everywhere continuous. I:‘ I:‘
xr

() The function |z — 7| is differentiable at x = 7. L] [
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2. (10 points) For the function f(z), whose graph is shown in the figure below, compute
the following limits. If the limit does not exist, write ‘DNE.’

N
¢ 1y

—6

—4 +

—6 +
@ lim f(z)= (e) lim f(z)=
®) lim f(z)= ® lim f(z) =
(d mlg;lﬁ f(z) = (h) xh_{folo flz) =

(i) Is f(x) continuous at x = 4? Be sure to justify your answer using the definition of
continuity.
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3. (10 points) In each of the following, determine the limit, if it exists.

27 10
r—2 |:L‘ — 2|

22 +2x+3
b) lm ——M =
();_}H% r+1

¢ lim —-—— =
S Y
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4. (10 points) In each of the following, determine the limit, if it exists.

_ 22 —x—12
@ lim ————— =
e—»-3 202 4+ Te +3

r+1
b) lim ———— =
®) Iy or g

x—0 x
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5. (15 points) Complete the following parts:

(a) Prove there is a solution to 2z* + 22 — 1 = Tz — 2 on the interval [0, 1].

(b) Use the Squeeze Theorem to prove lin% 327 sin (
T—>



Math 295: Exam 1 7 of 10

6. (10 points) Use the definition of the derivative to compute the derivative of the func-
. 20+ 1
tion f(x) =
x p—

at x = 2.
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7. (10 points) Compute the following limits—no work is necessary.

(® lim * =

o0 6+ Inx

346
lim —— =
(&) i ?+x+1

a2
() lim 0%

T—00 1'2 —+ 4

(i) lim —— =

2?2 +3r—1
s
O lim =75
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8. (10 points) Compute the following limit. Show all steps of your computation.

. r+1
lm ——— =
z——00 /432 + 3
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9. (15 points) Determine the values of a and b that make the function f(x) continuous.
Justify completely that f(x) is continuous.

3 —1, r<—1
fl)=<S 2> +ax+b, —-1<z<2
2+ 1, T > 2



